
Problem 8.15  For the discrete-time process of Problem 8.14, use the discrete Fourier transform  to 
approximate the corresponding spectrum. That is,  
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If the sampling in the time domain is at n/Ts where n = 0, 1, 2, …, N-1. What frequency does k correspond 
to? 
 
Solution 
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00 andLet σααβσααβ =+= . Then  
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The term  corresponds to frequency ( )kSY N
kf s   where 

S
S T

f 1
= . 

 

Excerpts from this work may be reproduced by instructors for distribution on a not-for-profit basis for testing or instructional purposes only 
to students enrolled in courses for which the textbook has been adopted. Any other reproduction or translation of this work beyond that 
permitted by Sections 107 or 108 of the 1976 United States Copyright Act without the permission of the copyright owner is unlawful. 

page…8-16 


